
9

8

7

4

6

2
3

1

5

TORQUE TO:
85Nm (63 ft-lb)

TORQUE TO:
 70Nm (52ft-lb)

TORQUE 

TORQUE TO:
85Nm (63 ft-lb)

DIAGRAM A

ITEM NO. DESCRIPTION: QTY.
1 F8X 2 BOLT DIFF BRACKET 1
2 M12x1.5x60 SHCS 2
3 M12 Split Lock Washer 3
4 M12x24x2.7 Washer 3
5 M12x1.5x50 SHCS 1
6 M14x2x85 1
7 M14 Split Lock Washer 1
8 M14x28x2.7 Washer 1
9 M14x2x14 Helicoil 1

F8XX-DBKT

PAGE: 1/1


	Sheet1
	Drawing View1


